Section [

Multiple Cholce {5 marks)

Name: _ - a Circle your selection from the four cholces given.
s 9
St Catherine’s School
Woaverley 1) Which of the following lines is perpendicular to y = zs_z —47
o y==4+3 -
. . Y sx+zy—14=0 . . | ;
y () 2x—5y=12 T
20 l 7 Assessment Task 2 B
X
: )y y=L il
4 R ) l
. ' ' ’
Year I o Mathematlcs 5 .2[5.3 2} If the bearing of A from B Is 290°, then the bearing of B from A is
N . :
General Instructions
i
*  Reading Time — 3 minutes 280 ;
*  ‘Working Time — 55 minutes W : = -
¢ This is an open book task {You can have an A4 page of notes with you}. ’
s VVrite using black or blue pen. Black pen Is preferred “
¢ Board-approved calculators may be used
|
»  All questions are to be attempted !
¢ [n Section I, show all relevant mathematical reasaning andfor calcufations 5
e - Marks may be deducted for careless or badly arranged work “4AY 110°
»  Answer alf questions in the space provided. _ . ,
o Task Weighting — 20% , S (8 030
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3)

44

5}

The correct equation to find the value of x in the triangle above is

The length of a desk is giyen as 65 cm. The errarin this measurement is

A}
8
{c}
{D}

{A) sinx75° = sijgﬂ’
(B} cos75° = %:—‘
9] sinx75° = 2?%
D) s T
0.05 GB =
(A} 50000008
(8} SOMB
Q0  500KR
D) 500MB

+1 cm
+0.5cm
+0.85em
+0.2 om

20em
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Section Ii

Show all working for this section.

b)

" Question 6 {10 marks)
a}

Solve simultaneausly the equations
3x—2y=45
x45y =2,

A theatre chargesadults $25 entry, and # charges children $12. On one‘parﬂcu[ar night
when there were 47 people in the audlence, the total ticket sales was $980.

i} Form two equations to represent the Information given.
’ 5
) -

1}] Solve these equations simultaneously to find the number of children that attended.

Question 6 continues on the next page
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c) 1}

il

Find the gradientof the ine 2x + 6y —~3 = 0.

Find the equation of the line perpendicular to 2x + 6y — 3 = 0 that passes through
tha point (4,10).

3

b}

Question 7 (15 marks)

a)

24em &

D Fy&ﬁcm—ﬂ

A

i} By referving to ABDA, find thy value of x correct to 1 decimal place.

i} Hence find the value of the angfe 6, correct to the nearest degree.

Use the Cosine Rule to find the value of the pronumeral. {1 decimal place).

Question 7 continues on the next page
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c).

d)

e)

Intriangle PQR, PQ = 35cm, QR =18 cmand £PRQ) = 102°.

i) Draw triangle PR showing the Information given.

1} . Usethe'Sine Ruléta find the size of QPR (nearest minute). 2

Find the area af the triangle .shown.

2

8.6em

2640

m

From the top of a 42 metre bullding, the angle of elevation to the top of the bullding next to
it Is 52°, and the angle of depression to the base of the same building Is 38° {as shown).

Find the height of the taller bullding to the nearest metre. {you may need to find another
length first). '
I8

rarars
s g (| g | g |

1.1

o e | o T

T rar e
] o i [ o |

3
3

=

Question 8 {13 marks)

a}

b}

<)

b.8m

3.dmx
The dimensfons of a rectangle are given as 5.8 m by 3.4 m. .
i) What Is the error In measurement of each side [ength?
) 1
it} State tha lower and upper d!mensx’uns-ofthls rectangle given the error In part i}.
S )] Hence calculate the lower and upper limits on the area of this rectangla,
2 - f
. FY
Find the shaded area of the figure below: .
12em
Tdem
8om ’
1Fem
_L 1 =
27cm
The area of the sectar shown Is 120 cm?.
Find its radius correct to 1 decimal place.
F
80°
Question 8 continues on the next page
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d) Find the surface area of the half cylinder shown correct to 1 decimal place.

~

e} A rectangular metal block has two cylindrical heles bored th(nugh it, as shown in the
diagram. The diameter of these cylindrical holes is 4 com,

Find the surface area of this metal block, Including the Inside of the cylindrical holes {1d.p.)

10

Question 9 {11 marks}

a) . Two planes leave Sydney airport. Plane A travels 400 km on a bearing of 330°, whila plane B

travels 1200 km on a bearing of 250°.

i} Draw a neat dlagram showlng this faformation.

-

5 iy Calculate the distance betweet{Fhe two planes when they land correct to the . 2
nearest kilometre, .
1 - T ) L
. 1ii) Calculate the bearing of plane A from plané B.correct to the nearest degree. 3

i{ ’ V .

Question 9 continues on the next page
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Mu bple Chota Answees o 118 2.4 3D 4.85.8.
b) Find the@alue of the side marked % {you must show working). 2 . Section i |
N . . _ Marks
Show all working for this section. Co
Question & (10 marks)
a) Solve simultaneously the equations 3
3x —2y =45

t3 [+ 5y =-2)

B 'RJ—’V)—
"1yt 1y

P+ I3
J P
,AJ*H'}: L74 = 2SS B . L

it

Joper

7 =5t % =13
3 ;_j'_‘f_.
77 )
] 3 . .Lysvs oad x=(2
. . o .
N t at sea observes a cliff af an angle of elovation of 15°. He then moves = .
? ?ogi!tengdoti:cﬁff Ho then ohserves the angle of elevation is 25°. Find the 3 b)  Atheatre charges adults $25 entry, and [t charges children $12. On one particular night
i i1 - Hint: First find the length x, when there were 47 people in the audience, the total ticket sales was $980,
height, 4, of the cliff to the nearest mekre elength 7 . - 1
. I Form two equations to represent the information given.
Lot o= aclutfs 5w+ Ay= P S
f&'f/v: edlodhin p

&' +‘L7 = ¥7\=/\ -
( .
- . Z
ii} Solve these equatlons simultaneousty to find th‘e number of children that attended.
Zﬁcf{‘lj o

W Lxiye7)

25n f/‘97 oy

2w f'&{_j =75

1o0m
. . - - /2J~2J3 =7y (}\
K ~3y = /T
il . J e
‘ {j = f’}?
s +13=¥%) :
END OF TEST - s ) g
; . ) Jeoxsze a;fc/[/v::/,?

Question 6 continues on the next page
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c)

)

i)

Find the gradient of the line 2x - 6y ~ 3 = 0.

- |
(J— :.?f-f-}__t m-_'“BL
(}/:TX'}'Z

find the equation of the line perpendicular to 2x + 6y — 3 = 0 that passes through
the point (4,10).

i
J: }ffcfl

ml:j = -3 (;/,/u)-
(y-—{j, ZM@’I,)
goo= 361 -

4Bz +12
J: -3 +12 FrO

()‘ = ~Z +220 . g

l?a;e 6

1 Question 7 {15 marks)
a) B
3
24em @ ’
I A8° N 4 c 7
A
Pl —z8em—]

i) By refercing to ABDA, find the value of x correct to 1 decimal place.

1 £ - 21y ! 1
! ) sisbe S5 = 2950 b S / :
e e Xz 7. /
cint's 7. e
if) Hence find the value of the angle &, correct to the nearest degree. @
_0_.15___30 =25° ' /
me b= Il g ﬂ Z ./
75
and = - 36 .
bz lan? [‘%£>
b} Use the Cosine Rule to find the value of the pronumeral. {1 decimal place). @
£ .
™m . 49‘5‘
¥ |
P azcb*re® ~Rbe cort :
C T 20m Jf-:lﬂlf‘?Z’o?KzoV?Kfﬂfo}f‘
J o 2¥2, £ //
J2v2.f

/AN
i:/f-élsé

Question 7 continues on the next page




¢ In triangle PQR, PQ = 35cm, QR =18 cmand ZPRQ = 102°,

j] Draw triangle P@R showing the information given.

@. T (g . .
i) Use the Sine Rule 6'find the size of 2QPR {nearest minute). @

: 7 £rh fo2."
& 2 _ 0=30"12 // :

sd bz I

x 7

o =1 fFsenfo

G- s "'_'3-;_.—-"—
d) Find the area of the trfangle shown,
B.5em I'4 .
e A= 3 ab e
26500 Ae ;"x 557 ¥ sa 28 !
T

A=13. 35m™

) From the top of a 42 metre bullding, the angle of elevation io the top of the building next to, .~
it is 522, and the angle of deprassion to the base of the same building is 38° (as shown}.
Find the helght of the taller building to the nearést metre. {you may need to find another
length first). '

Yz
fwvﬁ':éj‘; Lt bt of e

b= SYbnsp” fallr Deiiling 1S
* £+89A = jp;///h, l//

1 ry:

B o OO0
ferbe o Wil
.92 oo
fendl’ = GO
- = B
I
e g5V op
el . |oop
oor
: oo
tents 22 guil
A
: 7

t.8m

Question 8 {13 marks]
) 3.4m
a) The dimensions of a rectangle are given as 5.8 m by 3.4 m. .
i} What Is the error in measurement of each side length? 1
GrE= 2 Tx 04 5'&.9.5,; \//

if} State the lower and upper dimensians of this rectangle given the error in part i}. / 1

£ F¢ goor Scigase
=5.pp  TO-Oo5ercgommeg 23T

3. ¢ 0.08 3.4 -6.08 ‘gé

= &33"1@

i), Hence calculate the lower and upper fimits on the area of thls rectangle, %& 1

AL= §T5x33¢ Aur e gr = 2UC

= 193 > 5 2001 ¢
h) Find the shaded area of the figure below: 2
I— Ay bk
A : A, = ifx2)

12emy
ldcm
A

8em

,4".- = 378em >

e 3T ITE

17em

. b )
[_ b . Pzt f = 222:m?
27em /2427
A, = g v
2
By = ISBent @
c} The area of the sector shown is 120 cm?, 3

Find its radius correct to 1 decimal place.

VR ks 0.

3o
.
223 128 =i -
60 120
F 7
e a1 1 r= 15,1 em

Question 8 continues on the next page

Page 9




dj "Find the surface area of the half cylinder shown correct to 1 decimal place. 2

Sﬁt = Aruh-u]];_ "‘Au;rru( wlye + 2/4,‘,,,;_‘.“0&7

= foxis ¢ 2xrh

Y + 21‘_-15;:7“-2‘_'

= 10%15 + ARSIy 4 Aaxg?t

- G b4, 2 m

o
[T

A rectangular metal block has two cylindrical holes bored thl:ough lt, as shown in the
diagram. The diameter of these cylindrical hales s 4 cm.

e}

Find the surface area of this metal block, including the inside of the cylindrical holes (1d.p.)

SA, = 2ot e vz 12518}
- g (xrar)
s 98 cn™

\

T Ak SA, = 2(2xvh)
. degyryx 2x 1b
Go2.] ewm®

1Y

H

SAs SA+SA,
= 13401 tem

1
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Question 9 {11 marks)

a) Twia planes leave Sydney airport. Plane A travels 400 km on a bearing of 330°, while plane B
travels 1200 km on a bearing of 250°. . ,

1} Draw a naat diagram showing thisj\i?formaﬂon.
0 r ,
e
\S
[ . LA

9
e
m

. . W o )
i ity Calculate the distance betweeifThe two planes when they Jand correct to the 2
nearest kilometre. :
" Az 4oeta fzoe® _ Dxtrrerdos cas Fp°
oo
& = (433299, 7
90'(
e f{ -z 1! 7 7 kuq .
11oP
12
B i) Calculate the bearing of piane A from plané B.correct to the nearest degree. 3
A ' - - : .

Cos (A A8z [2oott (ITX 00
° 2x llesx (187
= o4 4
LABe -~ pest) e 944
= 127

9: 73,.. 4 Co.(fu'ﬂl-'n‘lﬁ &»lj[(_: )4¢(j Z's)

= 5)°

/4 15 en & [’Cﬂr;ﬂj ﬂf sie 'QM-M G

Question 9 continues on the next page
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b)

)

/?ff K 42"

Find the@alue of the side marked * (you must show working).
' o

507 Ly
N4

;_r)rf‘-’ TEF &

-
3v6em 3/5 ,/ cl-«
‘X 5 sinbO :

s

i ¥
g -
i
-

I
snbo

J S

A fisherman out at sea observes a cliff afan angle of elevation of 15°. He then moves
100m toward the cliff, He then observes the angle of elevation is 25°, Find the
height, #, of the cliff to the nearest mMetre- Hint: First find the length x.

oz io”

tev

- v
sin 0.

[bﬂf-’n{{a_

sinle’

PR NN

100m

- xsl;‘\ﬁr

s 45 sintg”

- é;m

END OF TEST
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